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Only a reduction of 10 percent in the number of scheduled flights using Greentown’s airport
will allow the delays that are so common there to be avoided. Hevelia airstrip, 40 miles away,
would, if upgraded and expanded, be an attractive alternative for fully 20 percent of the
passengers using Greentown airport. Nevertheless, experts reject the claim that turning
Hevelia into a full-service airport would end the chronic delays at Greentown.

Which of the following, if true, most helps to justify the experts’ position?

(A) Turning Hevelia into a full-service airport would require not only substantial construction
at the airport itself, but also the construction of new access highways.

(B) A second largely undeveloped airstrip close to Greentown airport would be a more
attractive alternative than Hevelia for many passengers who now use Greentown.

(C) Hevelia airstrip lies in a relatively undeveloped area but would, if it became a full-service
airport, be a magnet for commercial and residential development.

(D) If an airplane has to wait to land, the extra jet fuel required adds significantly to the
airline’s costs.

(E) Several airlines use Greentown as a regional hub, so that most flights landing at
Greentown have many passengers who then take different flights to reach their final
destinations.
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A major network news organization experienced a drop in viewership in the week following
the airing of a controversial report on the economy. The network also received a very large
number of complaints regarding the report. The network, however, maintains that negative
reactions to the report had nothing to do with its loss of viewers.

Which of the following, if true, most strongly supports the network’s position?

(A) The other major network news organizations reported similar reductions in viewership
during the same week.

(B) The viewers who registered complaints with the network were regular viewers of the
news organization’s programs.

(C) Major network news organizations publicly attribute drops in viewership to their own
reports only when they receive complaints about those reports.

(D) This was not the first time that this network news organization has aired a controversial
report on the economy that has inspired viewers to complain to the network.

(E) Most network news viewers rely on network news broadcasts as their primary source of
information regarding the economy.
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In comparison to the standard typewriter keyboard, the EFCO keyboard, which places the
most-used keys nearest the typist’s strongest fingers, allows faster typing and results in less
fatigue. Therefore, replacement of standard keyboards with the EFCO keyboard will result in
an immediate reduction of typing costs.

Which of the following, if true, would most weaken the conclusion drawn above?

(A) People who use both standard and EFCO keyboards report greater difficulty in the
transition from the EFCO keyboard to the standard keyboard than in the transition from the
standard keyboard to the EFCO keyboard.

(B) EFCO keyboards are no more expensive to manufacture than are standard keyboards and
require less frequent repair than do standard keyboards.

(C) The number of businesses and government agencies that use EFCO keyboards is
increasing each year.

(D) The more training and experience an employee has had with the standard keyboard, the
more costly it is to train that employee to use the EFCO keyboard.

(E) Novice typists can learn to use the EFCO keyboard in about the same amount of time
that it takes them to learn to use the standard keyboard.



Journalist: In physics journals, the number of articles reporting the results of experiments
involving particle accelerators was lower last year than it had been in previous years. Several
of the particle accelerators at major research institutions were out of service the year before
last for repairs, so it is likely that the low number of articles was due to the decline in
availability of particle accelerators.

Which of the following, if true, most seriously undermines the journalist’s argument?

(A) Every article based on experiments with particle accelerators that was submitted for
publication last year actually was published.

(B) The average time scientists must wait for access to a particle accelerator has declined over
the last several years.

(C) The number of physics journals was the same last year as in previous years.

(D) Particle accelerators can be used for more than one group of experiments in any given
year.

(E) Recent changes in the editorial policies of several physics journals have decreased the
likelihood that articles concerning particle- accelerator research will be accepted for
publication.
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A recent report determined that although only 3 percent of drivers on Maryland highways
equipped their vehicles with radar detectors, 33 percent of all vehicles ticketed for exceeding
the speed limit were equipped with them. Clearly, drivers who equip their vehicles with radar
detectors are more likely to exceed the speed limit regularly than are drivers who do not.

The conclusion drawn above depends on which of the following assumptions?

(A) Drivers who equip their vehicles with radar detectors are less likely to be ticketed for
exceeding the speed limit than are drivers who do not.

(B) Drivers who are ticketed for exceeding the speed limit are more likely to exceed the
speed limit regularly than are drivers who are not ticketed.

(C) The number of vehicles that were ticketed for exceeding the speed limit was greater than
the number of vehicles that were equipped with radar detectors.

(D) Many of the vehicles that were ticketed for exceeding the speed limit were ticketed more
than once in the time period covered by the report.

(E) Drivers on Maryland highways exceeded the speed limit more often than did drivers on
other state highways not covered in the report.



Last year all refuse collected by Shelbyville city services was incinerated. This incineration
generated a large quantity of residual ash. In order to reduce the amount of residual ash
Shelbyville generates this year to half of last year’s total, the city has revamped its collection
program. This year city services will separate for recycling enough refuse to reduce the
number of truckloads of refuse to be incinerated to half of last year’s number.

Which of the following is required for the revamped collection program to achieve its aim?
(A) This year, no materials that city services could separate for recycling will be incinerated.

(B) Separating recyclable materials from materials to be incinerated will cost Shelbyville less
than half what it cost last year to dispose of the residual ash.

(C) Refuse collected by city services will contain a larger proportion of recyclable materials
this year than it did last year.

(D) The refuse incinerated this year will generate no more residual ash per truckload
incinerated than did the refuse incinerated last year.

(E) The total quantity of refuse collected by Shelbyville city services this year will be no
greater than that collected last year.



[EpAR TIRIZIRE R

o “BY AR IERIFI BRI
o IEFETIHIE

o HRIPFRINIRIT

o TR



A =+ S w7 N
S FIRRIRE R
“PRITMRAE: EERER

o HREHREZ

o PTMESZ, ANRAEE

o MEABHEES

o YT —HFIEE, BREXM

o AR EIRS






